DE
FR
EN
I'T
ES
N L
DK
PT
PL
CS
SK
ZH
RU
HU
Fl
SV
LT
HR
TR
RO
EL
Sl
ET
Lv
SR

/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/
/

/

NO/

BG
SQ

/
/

Montageanleitung
Instructions de montage
Assembly instructions
Istruzioni per Installazione
Instrucciones de montaje
Handleiding
Monteringsveijledning
Manual de Instalacién
Instrukcja montazu
Montazni névod
Montazny navod

ik 3kl

MHCTP\/KLLMQ no MOHTQ)K\/
Szerelési ttmutatod
Asennusohje
Monteringsanvisning
Montavimo instrukcijos
Uputstva za instalaciju
Montaj kilavuzu
Instructiuni de montare
Obnyia cuvappordynong
Navodila za montazo
Paigaldusjuhend
Montazas instrukcija
Uputstvo za montazu
Montasjeveiledning
Muctpykums 3a ynotpeba
Udhézime rreth monfimit

AR / aeadll Ciladas
JP / FELEHAEZE

A2

R

AXOR Starck Organic

12417000

AXOR Starck X
10426000

J
2

AXOR Uno
38410XXX

J
J

AXOR Citterio E
36425XXX

J
%

AXOR Uno
38411XXX

{OR

N

AXOR Starck
10410XXX

AXOR Citterio
39410XXX

AXOR Urquiola
11430XXX

AXOR Citterio M
34410XXX

AXOR Carlton
11410XXX

4

AXOR Uno
45410XXX

INSTALLATION



[ AXOR Starck 10410xx¢ |

X,

NH24-30

AXOR Starck 10426XXX
AXOR Carlton 1T1410XXX
AXOR Uno 38410XXX

AXOR Citterio 39410XXX

X,

]

3 0-3 5

AXOR Urquiola 11430XXX

.Xlﬁ%&
V]

~25-30—




if

AXOR Citterio M 34410XXX

~28-33

X,

.Xlﬁ%&
%

X}\ 7

AXOR Citterio E 36425XXX 15 e NPV
%

Il

X L@%&
Xk 7
AXOR Uno 38411XXX . N

AXOR Uno 45410%XXX [ AR

%




AXOR Starck Organic 12417XXX ]

NSH3 Q- 4 Al

'Xlﬁ%&

]

DE /Silikon (essigsaurefreil)

FR  /Silicone (sans acide acétiquel)

EN  /Silicone (free from acetic acidl)

IT  /Silicone (esente da acido aceticol)

ES /Silicona (jlibre de ¢cido acéticol)

N L /Silicone (azijnzuurvrijl)
DK / Silikone [eddikesyre-fri)
PT / Silicone (sem dacido acético)
PL / Silikon (neutralny)
CS / Silikon (bez kyseliny octové!)
SK / Silikon (bez kyseliny octovei!)
ZH / BRI (AR

RU / Cunukon (He conepxur ykcycHoi kucnotsi!)
FI/ Silikoni (etikkahappovapaal)

SV / Silikon (fri fran attiksyral)

LT / Silikonas (be acto rogsties!)

HR / Silikon (ne sadrzi kiseline)

TR / Silikon (asetik asit icermeyen)

RO / Silicon (fara acid aceticl)

EL / Zihikovn (Sixwg oéikd oéul)

SL / Silikon (brez ocetne kisline)

ET / Silikoon (¢adikhappetal)

LV / Silikons (etikskabi nesaturo$sl)
SR/ Silikon (ne sadrzi sir¢etnu kiselinul)
N O/ Silikon [uten eddiksyre)

B G / Cunukon (6e3 ouetra kucenunal)
SQ / Silikon (pa acid uthulle!)

AR / (1A (aes e JA) ¢Sk
HU / Szilikon (ecetsavmentes!)

1P/ U FEEFEER)



SW 2,5 mm/SW 3 mm SW 2,5 mm
(2 Nm) (2 Nm)




l% 6

AXOR Urquiola AXOR Citterio M
11430XXX 34410XXX
25-30 p
* 28-33
3 L
S ®
- -1 0 T
5 [MHEA—— x5 1 —
™
Ne) O
Li v *3 v
o —» 410 o P8
— 171 —P ¢ 182 4>\
189 —— b ¢— 195 O\"(
2
AXOR Citterio E AXOR Uno
36425XXX 38411XXX

21432.34 %33.35

-
|} i

& D 65
Lo

v
z

—» 68/68 ¢

G 3/4
L2
%
G 3/4
v
Ie
%

AXOR Uno AXOR Uno
45410XXX 38410XXX

a<—> 33-35 }_aq—r 30-35
— . 228 i

3 ] = %’&M“‘m v
8 S AN 8 S =
v - u

Lf
! A
I 7 g —173 H\J
@ ¢— 175 8 ¢—188 ——
o ¢ 193 ———P P \‘/
AXOR Carlton AXOR Citterio
TT410XXX 39410XXX
Y 2 30-35
A
3 T —~~
=
S R I \ A
v ‘ ur\_’
I 10 I
> L 4
o <« 165 ———P
¢— 180 ———P




AXOR Starck Organic AXOR Starck X
12417 XXX 10426XXX

30-35

€—120 /120

— 184

[4— 80 —P

AXOR Starck
10410XXX

45 P

70
<

G 3/4-

H70—*
)
> |

122
132




AXOR Starck X

P max. 1,0 MPa = 10 bar

10426000
0,60 6,0
0,55 55
0,50 / 50
0,45 45
0,40 4,0
, 035 // 3,5
S 030 3028
0,25 : 2,5
0,20 : 20
0,15 : 15
0,10 : 1,0
0,05 . 0,5
0,00 - 0,0
Q=Il/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec 0 o1 02 03 04 05
AXOR Starck
10410XXX
0,60 7 6,0
0,55 55
0,50 50
0,45 7 45
0,40 4,0
, 035 3,5
S 030 3028
0,25 Y . 2,5
0,20 v : 2,0
0,15 /’ : 15
0,10 4 : 10
0,05 : 0,5
0,00 . 0,0
Q=Il/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec 0 o1 02 03 04 05
AXOR Carlton
TT410XXX
0,60 7 6,0
0,55 i 55
0,50 / 50
0,45 45
0,40 4,0
, 035 35
S 030 3028
0,25 : 2,5
0,20 / : 2,0
0,15 ; 15
0,10 1,0
1
005 +—— | . 0,5
0,00 ! 0,0
Q=Il/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec 0 o1 02 03 04 05

T max. 60 °C

AXOR Starck Organic

12417 XXX

0,60 6,0

0,55 55

0,50 50

0,45 45

0,40 4,0

0,35 35
§ 0,30 L 3,0

0,25 ,/ : 2,5

0,20 /’ — 2,0

0,15 // - 1,5

0,10 > - — 1,0

0,05 —1 0,5

0,00 =—1 1 00
Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=l/secO 01 02 03 04 05
AXOR Citterio E
36425XXX

0,60 6,0

0,55 55

0,50 50

0,45 YR

0,40 7 4,0

, 035 7 35
S 030 3,0

0,25 ,/! 2,5

0,20 // ; 2,0

015 va : 15

0,10 : 1,0

0,05 1 . 0,5

— .

0,00 0,0
Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=l/secO 01 02 03 04 05
AXOR Urquiola  AXOR Citterio
11430XXX 394T10XXX

0,60 6,0

0,55 / 55

0,50 5,0

0,45 / 45

0,40 4,0

L 035 35
S 030 3,0

0,25 > 2,5

0,20 /’ 2,0

0,15 v 15

0,10 = 1,0

0,05 05

0,00 0,0
Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=l/secO 01 02 03 04 05

bar

bar

bar



P max. 1,0 MPa = 10 bar T max. 60 °C

AXOR Uno AXOR Citterio M
38410XXX 34410XXX
0,60 6,0 0,60 60
0,55 55 0,55 55
0,50 / 50 0,50 / 50
0,45 45 0,45 7 45
0,40 7 40 0,40 7 40
L 035 35 L 035 ~ 35
S 030 £ 3028 S 030 308
025 v . 25 025 //' 25
0,20 S 20 0,20 Ve : 20
015 A 15 015 v : 15
0,10 L . 1,0 0,10 5 - 1,0
0,05 ! 05 0,05 . 05
0,00 : 0,0 0,00 : 0,0
Q=I/mn0 3 6 9 12 15 18 21 24 27 30 Q=I/mn0 3 6 9 12 15 18 21 24 27 30
Q=l/secO 01 02 03 04 05 Q=lfsecO 01 02 03 04 05
AXOR Uno AXOR Uno
38411XXX 45410XXX
0,60 60
0,55 / 55
0,50 50
0,45 / 45
0,40 / 40
, 035 35
S 030 1 3028
025 I 2,5
0,20 . 2,0
015 ,/ . 15
0,10 A 1. 1,0
0,05 ] ' 0,5
0,00 ! 0,0

Q=I/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec O 0,1 0,2 0,3 0,4 0,5



@@@ 10

XXX = Farbcodierung/ Couleurs / Colors/ Trattamento / Acabados / Kleuren / Overflade / Acabamentos /

Kody koloréw 7 Kéd povrchové Gpravy / Farebné oznacenie / BifaftaY / Usetias konmposka/ Szinkédolds /
Varikoodaus/ Fargkodning 7 Spalvos / Boje / Renkler / Coduri de culori/ Xpopara/ Barve /Varvid 7/ Krasu kodi/ Oznake
boja/ Fargekode / Lisetoso konupane / Kodimi me ané t& ngjyrave 7 o\ s 7/ 4+ EIF &

000 = chrom// chromé / chrome plated/ cromato / cromado / verchroomd / Krom / cromado / chrom // chrom / chrém /
BEH& / xpom / krom # kromi / krom # chrom #/ krom /#/ krom // crom #/ Emiy pwpiwpévo / krom # kroom // hroma /7 hrom # krom /
xpom / krom /a8

090 = chrom/gold-optik/ chromé /or I'optique / chrome plated/gold plated / cromo/dorato ottica /cromo/oro dptica/
chroomAverguld-look 7 Krom/guld optic/ cromado/ouro dtica/ chrom/ztoty szlachetna / chrom/zlato ocel 7
chrom/zlato ocel / B4 AL, / xpom/manuesoe 3onoto / krom/arany-hatas / kromi/kultaoptiikka / krom/guld-optik /
chrominé [aukso optika) / optika krom/zlato / krom/altin-optik / crom/auriu optic / Emypwpiwpévo/onTix xpuoou /
krom/pozlagena/ kroom/kuld optik 7/ hroma/zelta / dezen hrom/zlatna / krom/gull-optikk / xpom/ontuika 3a snaro /
krom/i arte-optike / 23 O sVps S

340 = Brushed Black Chrome

820 = brushed nickel /brushed nickel 7 brushed nickel /brushed nickel / brushed nickel 7 brushed nickel /

Brushed nickel /brushed nickel / nikiel szorowany # brushed nickel / brushed nickel 7/ 82 22 // brushed nickel 7

brushed nickel /harjattu nikkeliZborstad nickel 7 brushed nickel 7 brushed nickel 7/ brushed nickel / nichel mat/ vikeA par/
brushed nickel /brushed nickel /brushed nickel /brushed nickel /barstet nikkel / Hanpackan ruken/ nikel i furcuar 7 JSs

P

[Sob ol

830 = polished nickel /polished nickel / polished nickel 7 polished nickel / polished nickel 7 polished nickel 7

Polished nickel 7 polished nickel 7 nikiel polerowany # polished nickel # polished nickel /7 &4l Yt / polished nickel /
polished nickel /kiillotettu nikkeli / polerad nickel / polished nickel / polished nickel / polished nickel / nichel lucios /
vikeA yuahioTepo / polished nickel 7 polished nickel / polished nickel 7 polished nickel / polert nikkel / noavpat nuken/
nikel i lémuar/ Jstas IS5

Q30 = Polished Brass



AXOR Starck X
10426000
& %472000
97530000
98]34000 @
AXOR Starck (16x2,5)
10410XXX
96472000 o 1o axxx
« / 8
/@ 98445000
98134000 ’ (M6x06)
(16x2,5) SW 3 mm
97467000 @
a /
97810000— 8
s (M3x8)
SW 2 mm
SW 3 mm Q4034XXX
(M24x1 - 25 I/min)
AXOR Carlton
TT410XXX
Q6455000
98159000
(39x3,5)
Q6526000 78‘
(M6x10)
SW 3 mm

04485000 96455000
(32,5%2,2) %? ;

> 13485XXX
[M28x1 - 25 I/min)
SW 26 mm

@ — 96438XXX



AXOR Starck Organic
12417000
Q6472000

98357000

/
98134000
(16x2,5)
97810000
(M6x8) —8
SW 3 mm
AXOR Urquiola
11430XXX 98337000

M24x]1
96472000 Q5496XXX | !
/7 ﬂ 95158000
o*
/

98134000 &

(16x2,5)
(M5xé)/ 95196000
SW 3 mm

/
97737000
96029000
(Mox6)  —8
SW 3 mm

13956XXX
(M24x1 - 25 I/min)




AXOR Citterio
39410XXX
96472000
@ a Q}756XXX
9813466; f
AXOR Uno -
38410XXX

Q7238XXX
96472000

([(((@ <Z530000

97660000 g
(Moxe)

SW 3 mm
/
98134000

(16x2,5]

9781000

8 3
13956000
(M&x8 - .
SW 3 (M24x1 - 25 I/min)
- SW 22 mm @
13956XXX
= M24x]1 - 25 Vmin)

i SW 22 mm
AXOR Citterio E EEE
36425XXX
[((( 92504000

A 92337 XXX

/
98128000 |
(13x2) |

98195000
(46x2)

98231000

/(]8x],5'

[M5x8) AN
SW 2,5 mm \

\ 98337000
%
95158000~



AXOR Citterio M
34410XXX

AXOR Uno 98134000
38471XXX (16x2,5)

92504000
97530000

vl (M5x5)
98128000 98231000 SW 2,5 mm
(13x2) “ 0/ (18x1,5)

98433000
/(30x1,5)

o
(Msxo) — 98998000
SW 2,5 mm (M24x] - 30 Vmin)
98197000
AXOR Uno (20x1,5) =2 95158000
45410XXX 92934000 %

92504000 (M24x1)
4 97530000

@ / 95290000
),

Q2754XXX 98231000

(18x1,5) )
[ M5x6)
SW 2,5 mm
98197000
(20x1,5) ()

92934000 @
(M24x1)

95290000



DE / Reinigungsempfehlung/ Garantie / Kontakt

FR / Recommandation pour le nettoyage / Garanties/ Contact
EN / Cleaning recommendation/Warranty / Contact

IT / Raccomandazione di pulizia/ Garanzia/ Contatto

ES / Recomendaciones para la limpieza/Garantia/ Contacto
N L / Aanbevelingen inzake reiniging/ Garantie / Contact

DK / Rengeringsvejledning/ Garanti/ Kontakt

PT / Recomendacées de limpeza/Garantia/ Contacto

PL / Zalecenie dotyczqce pielegnacji/ Gwarancja/ Kontakt
CS / Doporuceni k ¢isténi/ Zaruka /Kontakt

SK / Odporicania pre ¢istenie / Zaruka/ Kontakt

ZH /TR /AR B

RU / Pekomenaaumu no ouncrtke/ Fapantis/ KoHtakTe

FI/ Puhdistussuositus/ Takuu/Kosketus

SV / Rengsringsrekommendationer/ Garanti/ Contacto

LT / Valymo rekomendacijos/ Garantija/ Kontaktai

HR / Preporuke za ¢iscenje/ Garancija/Kontakt

TR / Temizleme &nerisi/Garanti/Temas

RO / Recomandari pentru curdfare/ Garantie / Contact

EL / 3Uotaon kabapiopol/ Eyyunon/emadn

SL / Priporogilo za ¢iscenje / Garancija/ Kontakt

ET / Puhastussoovitused/ Garantii/Kontakt

LV / Tirganas ieteikumi/ Garantija / Kontakti

SR/ Preporuke za ¢isc¢enje/ Garancija/Kontakt

N O/ Anbefaling for rengjering/ Garanti/Kontakt

B G / lNMpenopbka 3a nouncteane / fTapanums / Kontakt

SQ / Késhilla rreth pastrimit/ Garancia / Kontakt

KO/ AN DA/ BARS/ A%

AR/ Juall /(A ya¥ sasiall LY ) Glasall / Cadatill a6
H U / Tisztftasi tandcsok/ Garancia/ érintkezés

P/ BFEANDHE/AREIC DWW/ TEIR L

ww.axor-design.com
cleaning-recommendation

a )

ww.axor-design.com
c\eoning—recommendoﬁon

ww.axor-design.com
cleaning-recommendation

4 A

NS

g J

ww.axor-design.com

cleaning-recommendation



http://www.axor-design.com/cleaning-recommendation

AXXOR

P-IX DVGW  SINTEF
10426000 P-IX 9918/110
10410KXX AXOR Starck X AXOR Starck Organic
11410XXX

10426000 12417000

11430XXX P-IX 19241/1B . . . .
12417000 P-IX 19961/10 Hansgrohe SE Hansgrohe SE|
34410XXX

36425XXX DIN 4109 DIN 4109
38410XXX  P-IX 18850/1B PAX9918/I0 PAIX 1996110
384TTXXX P-IX 16941/110 e e

Products Products

39410XXX

A5410XXX P-IX 16942/10

AXOR Urquiola AXOR Uno AXOR Uno AXOR Uno
11430XXX 38410XXX 45410XXX 38411XXX

Hansgrohe SE| Hansgrohe SE Hansgrohe SE| Hansgrohe SE

DIN 4109
PAIX 16941 /10

TOVRhsinland®
LGARY

DIN 4109
PAIX 16942/10

DIN 4109
PAIX 19241 /BB

DIN 4109
PAIX 18850//B

TOVRheinland® TOVRhsinland®
LGAD

Products

TOVhsinnd®
LGARY
Products

LGARY
Products

Products

AXOR / Hansgrohe SE
AuestraPe 5-9

77761 Schiltach
Deutschland

info@axor-design.com

01/2021
9.07576.13

axor-design.com



